ﬂ? Subtraction Using Open Number Lines

Name:

Solve each problem.
1) 39,691 - 38,609 =

Answers

< @ @ 4
2,
2) 95917-28,761= 3.
< o ® *—> 4.
5.
3) 87,497 - 75,269 =
6.
< @ @ @ >
7.
4) 23,738-16,082 = 8.
< @ @ 4
5) 91,331-21,681=
< @ @ @ 4
6) 38,168 - 24,376 =
< @ @ @ 4
7) 42,104 - 19,496 =
< @ @ @ 4
8) 20,964 - 11,326 =
< @ @ @ 4
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Subtraction Using Open Number Lines Name. Answer Key
Solve each problem. Answers
1) 39,691 - 38,609 =
1,082
1,082 1,091 1,691 9,691 39,691 L
67,156
-9 -600 -8,000 -30,000 2
2) 95,917 - 28,761 = 3 12,228
-1 -60 -700 -8,000 -20,000
5. 69,650
3) 87,497 - 75,269 =
13,792
12,228 12,237 12,297 12,497 17,497 87,497 °
-9 -60 -200 -5,000 -70,000 £ 22,608
4) 23,738- 16,082 = 8 9,638
7,656 7,658 7,738 13,738 23,738
-2 -80 -6,000 -10,000
5 91,331-21,681=
69,650 69,651 69,731 70,331 71,331 91,331
-1 -80 -600 -1,000 -20,000
6) 38,168 - 24,376 =
13,792 13,798 13,868 14,168 18,168 38,168
-6 -70 -300 -4,000 -20,000
7) 42,104 - 19,496 =
22,608 22,614 22,704 23,104 32,104 42,104
-6 -90 -400 -9,000 -10,000
8) 20,964 - 11,326 =
9,638 9,644 9,664 9,964 10,964 20,964
-6 -20 -300 -1,000 -10,000
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ﬂ; Subtraction Using Open Number Lines Name:

Solve each problem.
1) 39,691 - 38,609 =

Answers

39,691
< 0\/0\/0\/0\_/0 >
-9 -600 -8,000 -30,000 2
2) 95917 - 28,761 = 3.
95,917
< &e— e —— e ——6& —— 66— 0o 4.
-1 -60 -700 -8,000 -20,000
5.
3) 87,497 - 75,269 =
6.
87,497
-9 -60 -200 -5,000 -70,000 7
4) 23,738-16,082 = 8.
23,738
< 0\/0\/0\/0\_/0 >
-2 -80 -6,000 -10,000
5) 91,331-21,681=
91,331
-1 -80 -600 -1,000 -20,000
6) 38,168 - 24,376 =
38,168
-6 -70 -300 -4,000 -20,000
7) 42,104 - 19,496 =
42,104
-6 -90 -400 -9,000 -10,000
8) 20,964 - 11,326 =
20,964
-6 -20 -300 -1,000 -10,000
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